
A
P

P
R

O
A

C
H

WHARFHEAD

12.57 m x 15.24 m

FLOAT J

3.66 m x 66.27 m

FLOAT K

3.66 m x 35.0 m

FLOAT L

3.66 m x 60.5 m

FLOAT M

3.66 m x 74.1 m

FLOAT C

3.66 m x 78.64 m

FLOAT G

3.66 m x 70.41 m

2
9
8
°
 
A

Z
.
 
T

O
 
B

E
A

C
O

N

P
O

I
N

T
 
B

E
A

C
O

N CHAIN

W.L. TRANSFERRED  TO  N.H.B.

BY  PROVINCIAL  O.I.C.  N 777°

DATED   FEB. 29  1972

ROCK

R

A

M

P

 
L

A

U

N

C

H

I
N

G

H.W.L.

18.73°

L.W.L

H.W.L.

PARKING LOT

R

A

M

P

 
A

P

P

R

O

A

C

H

DRIVEWAY

(OWNED BY OTHERS)

P

L

A

S

T

I
C

 
P

I
P

E

 
F

L

O

A

T

I
N

G

 
B

R

E

A

K

W

A

T

E

R

OIL SPLIT KIT

P
R

I
V

A
T

E
 
M

O

O

R

A
G

E

(
O

W

N

E

D

 
B

Y

 
O

T

H

E

R

S

)

PARKING LOT

(
O

W

N

E

D

 
B

Y

 
O

T

H

E

R

S

)

1
6
6
.
6
4
1

1
1
5
°
 
0
5
'
 
1
0
"

1

9

9

.

3

0

3

1

4

3

°

 

4

6

'

 

0

0

"

2

3

0

.

1

2

4

5

3

°

 

4

6

'

 

0

1

"

7

6

.

2

0

0

1

4

3

°

 

4

6

'

 

0

0

"

1
8
2
.
0
4
7

1
1
5
°
 
0
5
'
 
1
0
"

SHED

(OWNED BY OTHERS)

< 302 >

FLOAT H

3.66 m x 70.41 m

< 202 >

< 201 >

TO

ANCHORS

<

 
3

0

3

 
>

(OWNED BY OTHERS)

BUILDING

GATE

< 808 >

< 809 >

< 920 >

< 952 >

<
 
3
0
1
 
>

0 50

SCALE IN METERS

10 20 30 40

< 807 >

FLOAT F

3.66 m x 70.41 m

< 806 >

FLOAT E

3.66 m x 70.41 m

< 805 >FLOAT D

3.66 m x 70.41 m

< 804 >

< 803 >

FLOAT B

3.66 m x 79.25 m

< 802 >

FLOAT O

2.74 m x 15.6 m

< 813 >

< 812 >< 811 >

< 810 >

< 402 >

GANGWAY

1.22 m x 14.15 m

FLOAT A

4.59 m x 41.6 m

< 801 >

GANGWAY

1.8 m x 19.8 m

<
 
4
0
1
 
>

EXISTING FLOATING CATAMARAN

BREAKWATER, SIZE AND LOCATION

ARE APPROXIMATE ONLY

4
.
8
8
 
m

 
x
 
5
1
.
8
2
 
m

1 : 1250

R

U

P

E

R

T

DO NOT SCALE DRAWINGS

Western Region

Travaux publics et

Services gouvernementaux

Canada

Government Services

Canada

Public Works and

OF

Région de l'ouest

Fisheries & Oceans Canada

Small Craft Harbours Branch

Pacific Division

200 - 401 Burrard Street

Vancouver, Canada, V6C 3S4

RUSHBROOK HARBOUR

PRINCE RUPERT

HARBOUR REPAIR

RUSHBROOK HARBOUR

SITE PLAN

DJ

VB

WSL

SMALL CRAFT HARBOURS

RB-HR

001

AERIAL PHOTOLOCATION PLAN

SITE

N

H

A

R

B

O

U

R

FLOATING

BREAKWATER

FLOATING

BREAKWATER

COW BOY

IMPERIAL OIL

ROYAL

FISHERIES

BEING FILLED

(1973)

C

.

N

.

R

.

H

O

S

P

I

T

A

L

H

A

Y

S

 
C

R

.

SITE

BOPARAIV
Textbox
Prepared by

Vianna Boparai

Project Support Engineer



A
P

P
R

O
A

C
H

4
.
8
8
 
m

 
x
 
5
1
.
8
2
 
m

WHARFHEAD

12.57 m x 15.24 m

FLOAT J

3.66 m x 66.27 m

FLOAT K

3.66 m x 35.0 m

FLOAT L

3.66 m x 60.5 m

FLOAT M

3.66 m x 74.1 m

FLOAT C

3.66 m x 78.64 m

FLOAT G

3.66 m x 70.41 m

CHAIN

W.L. TRANSFERRED  TO  N.H.B.

BY  PROVINCIAL  O.I.C.  N 777°

DATED   FEB. 29  1972

18.73°

L.W.L

H.W.L.

OIL SPLIT KIT

P

R

I
V

A

T
E

 
M

O

O

R

A

G

E

< 302 >

FLOAT H

3.66 m x 70.41 m

< 202 >

< 201 >

TO

ANCHORS

EXISTING FLOATING CATAMARAN

BREAKWATER, SIZE AND LOCATION

ARE APPROXIMATE ONLY

(OWNED BY OTHERS)

BUILDING

GATE

< 808 >

< 809 >

< 952 >

<
 
3
0
1
 
>

0 50

SCALE IN METERS

10 20 30 40

< 807 >

FLOAT F

3.66 m x 70.41 m

< 806 >

FLOAT E

3.66 m x 70.41 m

< 805 >FLOAT D

3.66 m x 70.41 m

< 804 >

< 803 >

FLOAT B

3.66 m x 79.25 m

< 802 >

FLOAT O

2.74 m x 15.6 m

< 813 >

< 812 >
< 811 >

< 810 >

< 402 >

GANGWAY

1.22 m x 14.15 m

FLOAT A

4.59 m x 41.6 m

< 801 >

GANGWAY

1.8 m x 19.8 m

<
 
4
0
1
 
>

11

11

11

4

2

4

4

5

4

4

4 4

4

1 : 800

12

12

12

8

8

12

12

12

8

12

8

8

12

2

12

8

8

2

2

2

2

9

2

83 22 2

79

2

22 72 7

7

2

2

2

8

6

10

10

5

10

9

4

4

11

11

4

11

11

11

11

11

8

11

LEGEND

BULL RAIL, & OPTIONAL RUB BOARDS

REPLACEMENT

11

5

WHEEL GUARD REPLACEMENT

6

HAND RAIL REPLACEMENT

MOORING WELL REPLACEMENT

STEEL PIPE PILE

TIMBER PILE

4

2

3

FLOAT STRINGER REPLACEMENT

9

AQUACAN FLOATATION INSTALLATION

10

WHARF DECKING REPLACEMENT

8

FIBERGLASS PONTOON INSTALLATION

OPTIONAL FIBERGLASS PONTOON

INSTALLATION

HALF SIZE FIBERGLASS PONTOON

INSTALLATION

12

7

DO NOT SCALE DRAWINGS

Western Region

Travaux publics et

Services gouvernementaux

Canada

Government Services

Canada

Public Works and

OF

Région de l'ouest

Fisheries & Oceans Canada

Small Craft Harbours Branch

Pacific Division

200 - 401 Burrard Street

Vancouver, Canada, V6C 3S4

RUSHBROOK HARBOUR

PRINCE RUPERT

HARBOUR REPAIR

RUSHBROOK HARBOUR

GENERAL ARRANGEMENT

DJ

VB

WSL

SMALL CRAFT HARBOURS

RB-HR

002

BOPARAIV
Textbox
Prepared by

Vianna Boparai

Project Support Engineer



NEW

38 x 89 UPPER RAIL

141 X 292

STRINGERS

13 Ø x 559

HEX BOLT

19" Ø HEX BOLTS

125 SPIRAL NAILS

NEW

38 x 141 RAILING CAP

240 x 240 GUARD

NEW

89 x 292 DECKING

292 X 292 PILE CAPS

NEW

38 x 141 MID RAIL

125" SPIRAL NAILS

2 PER CONTACT

1
0
6
6

NEW 89 x 89

RAILING POST

SCALE           1:25

TYPICAL HAND RAIL DETAIL

38 x 240 RISER

EXISTING 89x141 TIMBER

TIE RAIL ON RISER

30x100 UHMW WEAR STRIP

19Ø (3/4") LAG BOLT, 150Lg.

COUNTERSINK 15mm, BOLTED

TO STRINGER AND PLACED TO

AVOID IMPACT ON PILES

PL. 8 BRACKET

EXISTING 191x141 TIMBER

CROSS TIE

EXISTING 141x241 TIMBER

STRINGER

EXISTING FLANGE

SCALE          1:10

SECTION - 2 (TYPICAL FOR OUTSIDE WELL WEAR STRIPS)

100

150

19Ø (3/4") LAG BOLT, 100 Lg.

75 75

2
5
0

5
0

SCALE          1:10

SECTION - 1 (TYPICAL FOR OUTSIDE WELL WEAR STRIPS)

19Ø (3/4") LAG BOLT, 300 Lg.

EXISTING 100x150

TIMBER CURB

EXISTING 50x300

TIMBER DECK PLANKS

NEW 141 x 141 TIMBER

BLOCKING BETWEEN JOISTS

EXISTING 191 x 141

TIMBER CROSS TIE

PL.8 BRACKET

100

320

19Ø (3/4") LAG BOLT,

150Lg. COUNTERSINK

15mm AND PLACED TO AVOID

IMPACT ON PILES

19x100 UHMW

WEAR STRIP

EXISTING 141x141

TIMBER JOIST

EXISTING FLANGE

PILE

30x100 UHMW WEAR STRIP

BOLTED DIRECTLY TO STRINGER

(AT OUTER WALL, WHERE REQ'D)

L
E

N
G

T
H

 
T

O
 
S

U
I
T

 
P

I
L
E

 
W

E
L
L

30x100 UHMW WEAR STRIP

w/PL. 8 BRACKET FOR FOUR (4)

INNER SIDES, WHERE REQUIRED.

SCALE          1:20

DETAIL - B
(TYPICAL TIMBER PILE WELL PLAN)

2

-

1

-

2

-

1

-

L
E

N
G

T
H

 
T

O
 
S

U
I
T

P
I
L
E

 
W

E
L
L
 
(
T

Y
P

.
)

19x100 UHMW WEAR STRIP

BOLTED DIRECTLY TO STRINGER

(AT OUTER WALL, WHERE REQ'D)

30x100 UHMW WEAR STRIP

w/PL. 8 BRACKET FOR FOUR (4)

INNER SIDES, WHERE REQUIRED.

SCALE          1:20

DETAIL - A
(TYPICAL STEEL PIPE WELL PLAN)

DESIGN CRITERIA

ENVIRONMENTAL

1. WATER LEVEL:

HIGHER HIGH WATER LEVEL (H.H.W.L.) = +7.5m

MEAN WATER LEVEL (M.W.L.) = +3.8m

LOWER LOW WATER LEVEL (L.L.W.L) = - 0.1m

2. SNOW:

SPECIFIED GROUND SNOW LOAD      Ss = 1.9kPa

SPECIFIED ASSOCIATED RAIN LOAD                Sr = 0.4kPa

3. WIND:

DESIGN WIND PRESSURE (1 IN 50 YEARS)                 q = 0.54kPa

GENERAL NOTES

1. ALL DIMENSIONS ARE IN MILLIMETERS UNLESS NOTED 

OTHERWISE.

2. ELEVATIONS ARE IN METRES RELATIVE TO LOCAL TIDE & CHART DATUM.

DO NOT SCALE DRAWINGS

Western Region

Travaux publics et

Services gouvernementaux

Canada

Government Services

Canada

Public Works and

OF

Région de l'ouest

Fisheries & Oceans Canada

Small Craft Harbours Branch

Pacific Division

200 - 401 Burrard Street

Vancouver, Canada, V6C 3S4

RUSHBROOK HARBOUR

PRINCE RUPERT

HARBOUR REPAIR

RUSHBROOK HARBOUR

MOORING WELL SECTIONS & DETAIL

HAND RAIL DETAIL

DJ

VB

WSL

SMALL CRAFT HARBOURS

RB-HR

003

BOPARAIV
Textbox
Prepared by

Vianna Boparai

Project Support Engineer



BOPARAIV
Textbox
Prepared by

Vianna Boparai

Project Support Engineer



BOPARAIV
Textbox
Prepared by

Vianna Boparai

Project Support Engineer


	RB -HR Float and Wharf Repairs - Tender Drawings
	RB-HR-001
	RB-HR-002
	RB-HR-003

	Full Pontoon Details
	Half Pontoon Details

